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2. (1)30%x—2.7=2.7
fift: 30%x=2.742.7

30%x=5.4

x=18

2) 50%x—;x 4

(3) 12%x+8=20
ff: 12%x=20—8
12%x=12
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(4)35%x+25%x=70%

SREL e Sos, B, R
'..._ 1T, BRI EE R




OSmK--- S HEHERSHS g
1T, BAREESHRRE

fift: 60%x=70%

3. (1) 130+(20%+45%)
=130+65%
=200(m)
(2) 24+(54%—46%)
=24+8%
=300(\)
0. 1.30+25=120%
120%—1=20%
& SEBRME R ERIB I 120%, S2hRELIRTFRIZ S 20%.
2. 20000x4%x3=2400(JC)
2400<<2500
% BAE AR TS AR SE— S BER L.
3. fif: BOXERVEAH FKA x kgo
x—22%x—23%x=1.1
0.55x=1.1
x=2
% R FRE 2 ke
4. (120—96.6)-20%=23.4+20%=117(kg)
120—117=3(kg)

% THIE 3 kg

A E]
SRS hE, b, ER, SR

SIS (T, AEEESEAE



OSRG-S FBHERSHES i
ST, AEREESRERR

5. 15+(60%—40%)="75(1})
% WAL —ILHER 75 BR .
6. 169+(1—87%)=1300(7T)

Ee X G LA R 1300 TC.






